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QUESTION 1

A session is authenticated to make API calls via the REST API of the Cisco APIC. Which option is the default token
timeout for that session? 

A. 120 seconds 

B. 900 seconds 

C. 60 seconds 

D. 300 seconds 

E. 600 seconds 

Correct Answer: D 

 

QUESTION 2

Which two benefits of ACI help improve the time required to deploy an application? (Choose two.) 

A. enabling software developers to create development environments similar to production 

B. eliminating the need for expensive Layer 4 to Layer 7 service appliances 

C. eliminating IP addressing from software stacks 

D. evolving the IT model from manual workflows to an application model that automates deployment, operations, and
visibility 

Correct Answer: AD 

 

QUESTION 3

Which three options are three primary functions of ACI fabric spine switches? (Choose three.) 

A. proxy database 

B. multidestination tree root 

C. distributed default gateway 

D. Layer 3 IP fabric underlay 

E. spanning-tree root 

F. OSPF DR 

Correct Answer: ABD 
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QUESTION 4

Which two benefits are achieved through database sharding within the Cisco APIC cluster? (Choose two.) 

A. active-standby high availability 

B. scalability 

C. compression 

D. reliability 

E. load balancing 

Correct Answer: BD 

 

QUESTION 5

Which four options are benefits of the Cisco ACI fabric and OpenStack environment? (Choose four.) 

A. ease of use for application developer 

B. application acceleration 

C. tunnel encapsulation 

D. administration and management 

E. troubleshooting 

F. southbound integration 

G. Layer 4 to Layer 7 service integration 

Correct Answer: ABCF 
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